Automotive FElectrical and Engine Performance, 8th Edition
Chapter 21

Name

MATCHING. Choose the item in column 2 that best matches each item in column 1.

1) Older vehicle lighting control
2) Newer vehicle lighting control
3) Does not use a filament

4) 1157 bulb has two of these

5) Requires high voltage

6) HID lights have two of these
7) Use less power when ON

8) Dim headlight

A) Electrodes

B) BCM

C) Filament

D) HID headlights

E) Poor ground

F) LED

G) Mechanical switch

H) LED headlights

4)

5)

6)



Answer Key
Testname: AEEP8 MATCH21

1)G

Page Ref: 314
2)B

Page Ref: 314
3)F

Page Ref: 316
4)C

Page Ref: 316
5)D

Page Ref: 323
6) A

Page Ref: 323
7)H

Page Ref: 324
8)E

Page Ref: 327



